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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %
1 1004 5.1 1.3 6 85 99.9
2 991 2.5 0.9 3 83.9 98.6
3 1003 4.2 1.6 6 69.9 99.8
4 999 1.6 0.7 2 80.4 99.4
5 995 2 1.2 3 67.9 99
6 989 1.4 0.9 3 47.5 98.4
7 997 3.2 1.6 4 78.8 99.2
8 1005 5.4 1.9 7 76.6 100
9 1003 4.8 2 7 68.8 99.8

10 998 3.5 1.1 4 88.2 99.3
11 941 2 1.2 3 67.5 93.6
12 1005 1.7 1 3 55.9 100
13 932 3.7 2.4 6 61.9 92.7
14 998 1.8 1.2 3 59.6 99.3
15 937 3.1 2.2 8 39.1 93.2
16 947 1.8 1.4 3 58.5 94.2
17 948 1.5 1.2 3 50.8 94.3
18 944 1.5 1.5 3 49.2 93.9
19 934 2.5 2.8 7 35.2 92.9
20 917 2.5 2 6 42.1 91.2
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Heapands%ofhispayon rent and puts %cﬁhis pay into savings.

What fraction of his pay does Rishal then have left?
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‘5. Rishal gets paid every month.

y [ 1 ; .
He spends _3, of his pay on rent and puts 5 of his pay into savings.

What fraction of his pay does Rishal then have left? 3]
\ \
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5. Rishal gets paid every month.
1

He spends -15 of his pay on rent and puts 5 of his pay into savings.

What fraction of his pay does Rishal then have left?











5. Sight of % or equivalent
(fraction remaining =) 1 — (% + é) or equivalent)

(fraction remaining =) % or equivalent

Bl

M1
Al

CAQ.
Alternative method:
EB1 for the correct calculation of the addition of 2

Jractional amounts.
M1 for the subtraction of this total from the amount.

A1 for a correct fraction.











Heapands%ofhispayon rent and puts %ofhis pay into savings.
What fraction of his pay does Rishal then have left?

3]




Sticky Note

This candidate shows an understanding of the method required, but has made a mistake in creating equivalent fractions to add. The final answer to this question was 'Correct Answer Only'. B0M1A0.










|
‘5. Rishal gets paid every month.

He spends _13 of his pay on rent and puts % of his pay into savings.
What fraction of his pay does Rishal then have left?

g
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Sticky Note

This candidate has added the two fractions correctly, but has not communicated the method of subtracting the answer from 1. B1M0A0.










5. Rishal gets paid every month.
He spends % of his pay on rent and puts % of his pay into savings.

What fraction of his pay does Rishal then have left?

(3]
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Sticky Note

This candidate has shown a fully correct method and answer. B1M1A1.










5.

Rishal gets paid every month.

He spends 1 of his pay onh rent and puts 1 of his pay into savings.

3 5
What fraction of his pay does Rishal then have left? [3]
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The haole has a cross-sectional araa
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13. {length of block =) 40 500/(15x15) v M1
= 180(cm) v | a1l
{Volume of hole=) 25 x 180 v M1 | FT “their 180",
= 4500(cm?) v | oAl
(Mass of block remaining =) 2-7=(40500-4500) v M1 | FT “their 4500" provided it is a volume.
=097200 (g) or equivalent v Al | Mark final answer. Accept rounded answers provided

previous M1 awarded

Alternative method:

EB1 for (Mass of whole block =) 40500=2-7 (109350(g))
M1 for {flength of block =) 40500/(15% 15}

Al for 180 fem)

M1 for (Mass of hole =) 25 < 180 x 2-7 FT ‘their 180°
Al for 12150 (2)

Al for 97200 (g) FT ‘their 109350,
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Sticky Note

This candidate has shown a fully correct method and answer. They have calculated the mass of the initial block, then the 'mass of the hole', and subtracted. B1M1A1M1A1A1.













Sticky Note

This is an example where the candidate calculates the length of the block, then the volume of the hole. They could have worked out the mass then by subtracting the volume of the hole from the volume of the initial block, and multiplying the result by the density. They choose however to calculate the two masses then subtract, and they do this correctly. M1A1M1A1M1A1.
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Sticky Note

This candidate has gone so far, but has failed to calculate the mass of the remaining block. The length of the block is correct (180 cm), as is the volume of the hole (4500 cm cubed). If they would have multiplied the remaining volume by 2.7, they would have gained full marks. M1A1M1A1M0A0.










13.

/

15¢cm length

15¢cm /

Diagram not drawn to scale

The solid block shown above is made from a metal that has a density of 2.7 g/cm3.
The volume of the solid block is 40500 cm3.

A hole is drilled through the entire length of the block.

The hole has a cross-sectional area of 25cm?.
Calculate the mass of the block that remains. [6]
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Calculate the total surface area of this shape.
. m;t[qﬁ | e i s}
ks area of o

S-aue S... &/ 6 3.5&3‘47/? 12_
e g‘i? 40036225

B L











mmmm;‘i of & goldid cylindsr of redius 1% cm and hoiphd Bomn.
Calrdnts the tokal sarface area of his shape. =i

__=__..-§L-r_q.._.1J._.w,!.¢l-!- _____ 5::"-'_:_-:!-4'# e

A e
..... e e seibies Ejf‘

. -5 S {&i mnj {"I‘mu} - -"5'15-5
CToe -9 =g c-l} = B RFem T

o L N | o oSO

T ;_.:?.' ise u. 1'5' -











The shaoe above e 5 of 8 50l cytnder of mdius TScm ard hegr Bam.

“Aa__ﬂ»nb;; = WL F5F 3471

e o O A UH PG A
B> 55 40 Y025 e
o B Bl e B i

T ~D A~ 30 = 44. 29 777%] |

o A9 24T & b =565 wsTH
U BLE T > = &) 239749 mr

T s =S BE + 551 0490 47 2% = D4Y-Ge2L1DP)
| BN











19. (Area of sector of circle =) 1 xmw = 15
12
= 58875 to 58:9125 (e
(Length of circular arc =) 1 x 2 x w = 15
12
=7-85 to 7-855 (cm)
(Area of curved surface =) 47+1 to 47-13 (en1)
{Total surface area=) 2x58-875+ 471 + 2x{15x6)
=344-85 to 345 (cm®)

R NN

M1

Al
M1

Al
Al
M1
Al

30/360 could be seen instead of 1/12.

{Or 757/4). Sight of 117-75 to 117-825 implies.

(Or 57/2)

(Or 157). FT 6 x “their 7-85".
FT provided both M1s awarded.
(Or 180 + 1057/2).
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Calculate the total surface area of this shape. 71

3, g%a 5583G7/= 12,
qoy 86225




Sticky Note

This candidate has only successfully calculated the area of one of the faces of the shape, that is the sector of a circle. They have not shown an understanding that the shape is made up of 5 faces. M1A1M0A0A0M0A0.
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Sticky Note

This candidate has chosen to use the decimal equivalent of 1/12 (0.0833...). Although they have written it incorrectly for the area of the sector, their answer is correct, and so we can assume they have written it incorrectly by mistake.
However, for the curved surface, their answer is incorrect and they have used 0.033 in their calculation. This has cost them gaining a number of marks in this question. M1A1M0A0A0M0A0.
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Sticky Note

This is an example of a fully correct method and answer. Their area B is the area of one sector, C and D are the flat rectangular faces, and E is the curved rectangular face. M1A1M1A1A1M1A1.










19.

6cm

Diagram not drawn to scale

The shape above is 11—2 of a solid cylinder of radius 15cm and height 6cm.

Calculate the total surface area of this shape. [7]












